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#include <stdio.h> /* S
#include <stdlib.h>
void main(void)
{
int QDCTZ[64]={16,0,0,0,0,0,0,0,180,0,0,0,0,0,0,0,
0,0,0,0,0,0,0,0,210,0,0,0,0,0,0,0, /*
0,0,0,0,0,0,0,0,312,0,0,0,0,0,0,0,
0,0,0,0,0,0,0,0,936,0,0,0,0,0,0,0};
int PreDc=0;
int s;
int huffman;
int fukabit;
int bitstream out;
int bits;
int Dc;
int k;
Dc=QDCTZ[0]-PreDc; /*Dc
PreDc=PreDc+Dc;

i1f(Dc==0) /* Dc
{
s=0;
huffman=0;
printf("bitstream_out(%d,2)¥n" ,huffman);
}
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if(Dc==-1]|Dc==1)
{
s=1;
huffman=2;
printf("bitstream_out(%d,3)¥n",huffman);

i f(Dc==-1){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);}
if(Dc==1){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}
}
1T((Dc<=-28&Dc>=-3) | | (Dc>=2&&Dc<=3))
{
s=2;
huffman=3;

printf("bitstream_out(%d,3)¥n",huffman);

1 T(Dc<=-28&&Dc>=-3){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);}
1T(Dc>=288Dc<=3){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

i F((Dc<=-48&8&Dc>=-7) | | (Dc>=488&Dc<=T))
{
S=3;
huffman=4;
printf("bitstream_out(%d,3)¥n",huffman);
1 T(Dc<=-48&&Dc>=-7){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
1T(Dc>=48&8Dc<=7){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
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i F((Dc<=-8&8&Dc>=-15) | | (Dc>=8&&Dc<=15))
{
s=4;
huffman=5;
printf("bitstream_out(%d,3)¥n",huffman);
1 T(Dc<=-8&&Dc>=-15){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit),s;
}
i F(Dc>=88&Dc<=15){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

}
1T((Dc<=-16&8&Dc>=-31) | | (Dc>=16&&Dc<=31))
{

S=5;
huffman=6;

printf("bitstream_out(%d,3)¥n",huffman);
1 T(Dc<=-16&&Dc>=-31){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
1T(Dc>=16&&Dc<=31){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

¥

1T((Dc<=-328&&Dc>=-63) | | (Dc>=32&&Dc<=63))

{

S=6;

huffman=14;

printf("bitstream_out(%d,4)¥n" ,huffman);

1 T(Dc<=-32&&Dc>=-63){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}
1T(Dc>=32&&Dc<=63){fukabit=Dc;
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printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

}
1T((Dc<=-64&8Dc>=-127) | | (Dc>=64&&Dc<=127))
{
s=7;
huffman=30;

printf("bitstream_out(%d,5)¥n",huffman);
1T(Dc<=-648&8&Dc>=-127){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
1T(Dc>=648&8Dc<=127){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

}
1T((Dc<=-128&8&Dc>=-255) | | (Dc>=128&&Dc<=255))
{
s=8;
huffman=62;

printf("bitstream_out(%d,6)¥n",huffman);
1 T(Dc<=-128&&Dc>=-255){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
1T(Dc>=1288&&Dc<=255){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}
}
i F((Dc<=-256&8Dc>=-511) | | (Dc>=256&&Dc<=511))
{
s=9;

huffman=126;
printf("bitstream_out(%d,7)¥n",huffman);
1 T(Dc<=-256&&Dc>=-511){fukabit=~Dc;
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printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
1T (Dc>=25688&Dc<=511){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}
}
i F((Dc<=-512&8Dc>=-1023) | | (Dc>=512&&Dc<=1023))
{
s=10;

huffman=254;
printf("bitstream_out(%d,8)¥n",huffman);
1T(Dc<=-512&8&Dc>=-1023){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
1T(Dc>=51288Dc<=1023){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

}
1T((Dc<=-10248&8&Dc>=-2047) | | (Dc>=10248&8&Dc<=2047))
{
s=11;

huffman=510;

printf("bitstream_out(%d,9)¥n" ,huffman);

i F(Dc<=-1024&8Dc>=-2047){fukabit=~Dc;

printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

i F(Dc>=10248&&Dc<=2047){fukabit=Dc;

printf("bitstream_out(%d,%d)¥n",fukabit,s);

}
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#include<stdio.h> /* S 3.3
#include<stdlib.h>
void main(void)

{

int
int
int

i;

code;

max[17]={Oxffff,0xFFff,0x0000,0x0006,0x000e,0x001e, /*
0x003e,0x007e,0x00fe,0x01fe , OxFFff, OXFFff,
OxXFFFf, OXFFff, OXFFFF, OXFFff, OXFIff};

int min[17]={0x0000,0x0000,0x0000,0x0002,0x000e,0x001e, /*

int
int

int
int
int
int
int
int
int

0x003e,0x007e,0x00fe,0x01fe,0x0000,0x0000,
0x0000,0x0000,0x0000,0x0000,0x0000%};

val[17]={o0,0,0,1,6,7,8,9,10,11,0,0,0,0,0,0,0}; /*

huf[12]={0x00,0x01,0x02,0x03,0x04,0x05,0x06,
0x07,0x08,0x09,0x0a,0x0b};

Dc;

DC out;

next;

PreDc=0;

bits=3;

huffman=6;

QDCTZ;

int j;

int
int

i=1;

S;
sifuto=4;

code=0x0000;

next=(Chuffman>>sifuto);

code=next;

while(code>max[i1-1]) /* Dc

{

izi+l;
next=(huffman>>sifuto--);
code=next;
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if(code<max[i])
{
j=val[i]+code-min[i];
s=huf[j]; /*s
printf("%d¥n",s);

i1T(s!1=0)
{
1T((Dc&(1<<(s-1)))==0) /*
{

Dc=Dc-((1<<s)-1);
QDCTZ=Dc+PreDc;
PreDc=PreDc+Dc;
printf("'DC_out(%d)¥n",QDCTZ);

}
iT((Dc&(1<<(s-1)))1=0)

{

QDCTZ=Dc+PreDc;
PreDc=PreDc+Dc;

printf("'DC_out(%d)¥n",QDCTZ);
}

else
{
Dc=0;
printf('DC_out(%d)¥n™,Dc);
}
3}
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#include <stdio.h> /* S
#include <stdlib.h>
void main(void)
{
int QDCTZ[64]-{16,0,0,0,0,0,0,0,180,0,0,0,0,0,0,0,
0,0,0,0,0,0,0,0,210,0,0,0,0,0,0,0, /*
0,0,0,0,0,0,0,0,312,0,0,0,0,0,0,0,
0,0,0,0,0,0,0,0,936,0,0,0,0,0,0,0};
int PreDc=0;
int s;
int huffman;
int fukabit;
int bitstream out;
int bits;
int Dc;
int k;
Dc=QDCTZ[0]-PreDc; /*Dc
PreDc=PreDc+Dc;

i1f(Dc==0) /* Dc
{
s=0;
huffman=0;
printf("bitstream_out(%d,2)¥n",huffman);

¥

1T(Dc==-1] |Dc==1)
{
s=1;
huffman=2;
printf("bitstream_out(%d,3)¥n",huffman);
1T(Dc==-1){fukabit=~Dc;
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printf("bitstream_out(%d,%d)¥n",fukabit,s);}
if(Dc==1){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}
}
1T((Dc<=-28&Dc>=-3) | | (Dc>=2&&Dc<=3))
{
s=2;
huffman=3;

printf("bitstream_out(%d,3)¥n",huffman);

1 T(Dc<=-28&&Dc>=-3){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);}
1T(Dc>=288Dc<=3){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

i F((Dc<=-48&8&Dc>=-7) | | (Dc>=488&Dc<=T))
{
S=3;
huffman=4;
printf("bitstream_out(%d,3)¥n",huffman);
1 T(Dc<=-48&&Dc>=-7){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
1T(Dc>=48&8Dc<=7){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}
}
1 T((Dc<=-8&&Dc>=-15) | | (Dc>=8&&Dc<=15))
{
s=4;
huffman=5;

printf("bitstream_out(%d,3)¥n",huffman);
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1 T(Dc<=-8&&Dc>=-15){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit),s;
}
i F(Dc>=88&Dc<=15){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

}
1T((Dc<=-16&8&Dc>=-31) | | (Dc>=16&&Dc<=31))
{

S=5;
huffman=6;

printf("bitstream_out(%d,3)¥n",huffman);
1T(Dc<=-16&&Dc>=-31){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
1T(Dc>=16&&Dc<=31){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

¥

1T((Dc<=-328&&Dc>=-63) | | (Dc>=32&&Dc<=63))

{

S=6;

huffman=14;

printf("bitstream_out(%d,4)¥n" ,huffman);

1 T(Dc<=-32&&Dc>=-63){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

1T(Dc>=32&&Dc<=63){fukabit=Dc;

printf("bitstream_out(%d,%d)¥n",fukabit,s);

¥

1T((Dc<=-648&8Dc>=-127) | | (Dc>=64&&Dc<=127))
{
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S=7;

huffman=30;

printf("bitstream_out(%d,5)¥n",huffman);

1 T(Dc<=-648&8&Dc>=-127){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

1T(Dc>=648&8Dc<=127){fukabit=Dc;

printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

}
1T((Dc<=-128&8&Dc>=-255) | | (Dc>=128&&Dc<=255))
{
s=8;
huffman=62;

printf("bitstream_out(%d,6)¥n",huffman);
1 T(Dc<=-128&&Dc>=-255){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
1T(Dc>=1288&&Dc<=255){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}
}
i F((Dc<=-256&8Dc>=-511) | | (Dc>=256&&Dc<=511))
{
s=9;

huffman=126;

printf("bitstream_out(%d,7)¥n",huffman);

1 T(Dc<=-256&&Dc>=-511){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

1T(Dc>=256&8Dc<=511){fukabit=Dc;

printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
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i F((Dc<=-512&8Dc>=-1023) | | (Dc>=512&&Dc<=1023))

{

s=10;

huffman=254;

printf("bitstream_out(%d,8)¥n",huffman);

i F(Dc<=-5128&Dc>=-1023){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

1T(Dc>=51288Dc<=1023){fukabit=Dc;

printf("bitstream_out(%d,%d)¥n",fukabit,s);

}

}
1T((Dc<=-1024&8&Dc>=-2047) | | (Dc>=10248&8&Dc<=2047))
{
s=11;

huffman=510;
printf("bitstream_out(%d,9)¥n",huffman);
i F(Dc<=-1024&8Dc>=-2047){fukabit=~Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
i F(Dc>=10248&&Dc<=2047){fukabit=Dc;
printf("bitstream_out(%d,%d)¥n",fukabit,s);
}
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#include<stdio.h> /* S 3.3
#include<stdlib.h>
void main(void)

{

int
int
int

i;

code;

max[17]={Oxffff,0xFFff,0x0000,0x0006,0x000e,0x001e, /*
0x003e,0x007e,0x00fe,0x01fe , OxFFff, OXFFff,
OxXFFFf, OXFFff, OXFFFF, OXFFff, OXFIff};

int min[17]={0x0000,0x0000,0x0000,0x0002,0x000e,0x001e, /*

int
int

int
int
int
int
int
int
int

0x003e,0x007e,0x00fe,0x01fe,0x0000,0x0000,
0x0000,0x0000,0x0000,0x0000,0x0000%};

val[17]={o0,0,0,1,6,7,8,9,10,11,0,0,0,0,0,0,0}; /*

huf[12]={0x00,0x01,0x02,0x03,0x04,0x05,0x06,
0x07,0x08,0x09,0x0a,0x0b};

Dc;

DC out;

next;

PreDc=0;

bits=3;

huffman=6;

QDCTZ;

int j;

int
int

i=1;

S;
sifuto=4;

code=0x0000;

next=(Chuffman>>sifuto);

code=next;

while(code>max[i1-1]) /* Dc

{

izi+l;
next=(huffman>>sifuto--);
code=next;
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if(code<max[i])
{
j=val[i]+code-min[i];
s=huf[j]; /*s
printf("%d¥n",s);

i1T(s!1=0)
{
1T((Dc&(1<<(s-1)))==0) /*
{

Dc=Dc-((1<<s)-1);
QDCTZ=Dc+PreDc;
PreDc=PreDc+Dc;
printf("'DC_out(%d)¥n",QDCTZ);

}
iT((Dc&(1<<(s-1)))1=0)

{

QDCTZ=Dc+PreDc;
PreDc=PreDc+Dc;

printf("'DC_out(%d)¥n",QDCTZ);
}

else
{
Dc=0;
printf('DC_out(%d)¥n™,Dc);
}
3}
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